Find the Surface Area and Volume of each right prism. Round to the hundredth if necessary.

3) Find the Surface Area, Lateral Area, and Volume for the following solids. Give an exact answer,
a. b. c. BC =12, CH = §, apothem = 6.2

3in.

4 ft

h, apothem = 5.2 cm

G an

8 cm

6 cm




Geo 22 Final Review KEY

a.) SA=72 cm? b.)
V=32cm3

d)  SA=376.99 cm? e.)
V=452.39 cm3

g) SA = 144 cm? h.)
V=101.88 cm3

i) SA=1206.37 in? k)
V=2412.74in3

g}
Composites: 43 SA =296 cm?
V=336 cm3

page 12 SA&V.
SA =48 in? c.)
V=18in3
SA =28274 ft2 f.)
V=314.16 ft3
SA = 258 cm? i)
V=3062.12 cm?
SA = 452.39 cm? 1)
V =904.78 cm3

N

&)  SA=89.22in?

V =50.27 in3

SA = 672 units?
V =930 units3

SA = 266.4 units?
V =256 units3

SA =7854 cm?
V=1170.77 cm3

SA =1017.88 in?
V =3053.63 in3

SA = 203.58 cm?
V=218.18 cm3

O
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4) Find the unknown value for the right cylinder with radius v, height b, and surface area S.

. f?_
g r=__1, 038 .h=14 5=-98 QY= ATV UN) TATTY
by r=16h=_{) G\ . S5=86 QY- AYTY A0
- : q¢ = 3ﬁ—(r\qr~rr
at 4 p A1 r-10 =14

5) Find the unfmown value for the right cylinder with radius r, height h, and volume V.
W) r=10h= _p4W V=144 Ve 77 r =)
P
[ 77 10" h
b= LAl h=16y=t0 (Y= poe
S0 7 Llow 77

6) The dimensions of Box A are 2” by 6” by 10” and the dimensions of Box B are 3" by 57 by 8”.
8) Find the difference in volumes of Aand B [ (J —{ 2.0,
L ] 7
B oth hiYln hawt +hi 4 "

l/(:)fv-Q.rY\ﬁw
Oin?
b) Find the difference in surface areas of Aand B __ | 3/1“’ - | S'—? ,

RUYA hubd O SA Hhat /5 alin ﬁ(mc]/e/t,

¢) Find the ratio of Surface Areas of Ato B q A ] Qj

7) If the ratio of Volumes of two prisms is 58; and the edge of the smaller prism is 20 inches, what is the length
of the corresponding edge in the larger prsim? =30 1IN,

a- = Z. 20
% 3 '

2% =00
Section 9

1) Find the degree measures of each arc or angle by using the central angle measures given in O©M

amit__ 154" pmA_YW
omCBE A4 dmbe___§{9°
omaAbt__ AU omDBCA__A40"

oymsDMC___$10°

2} Determine the missing value of an arc with length L, in a circle with radius v, and degree measure M.

aL=15r=12m= 11, WL’ b) L = a‘%"ﬂ W =85 M=240°

VARGOINNEY.




3) Refer to®K, inwhich KG L. MH at F for the following,

8) MF = \*\\ why? _CVAYE 1S Wisedied

by KG=_ Mk sl

and

why? /Hlvudn =

¢) FXKH=2and KF=1, whatisMF? N3 gv |

d) MK =35 and GF = 2, what is FH?

4

4) Find the indicated measure.

@ 0g-_ 444
(O is the center of the circle)

e
-

" P R

X

b) RS=
(O is the center of the circle)

N ’ j/
e
B f\f\,(}..i, L ....‘\%“l\k
5) Using circle O below, name the follev.vmgL g CU 1{} { G »—>\§"
a. Chord AL, CV W [ TN
b. Diameter 77 A / N 3
"¢, Central Angle A_f()(_’, 4-BOF A / \E
. Minor Are AT, ¢ \ /o
.ﬁ;e. Major Arc 3’&&, P g N
T Semicircle gcd B%r-/zi\ by
Xg Radios G, o 4
1! Tangent (;}1{ \of\\/}g e /‘J,
i, Point of Tangency [~ ey
e

6) For the following, in ®M, AC is the diameter, DCis tangent to the circle at point C, and mBC = 78°

a) m/BAC g %D

by mesic 39

- omiB __[OL"  dOmedc OV
mzdBC__ A0 Hmzacp 9

A L e
" »g)__ L isaminorare, A{H _isa major arc

h) Wﬁ isaradius, ACisa (M QUi ty
p )Chisa_Langtnt

ECisa Uhwrd

In OM, if BC = 12, CD = 16, and AC =20, find the following:

)BD=

10.63

=_AuS¥

k) AD

¥




Find the measure of the arc or angle in M.

7. miOMP (900 B, msNMO “0"
a.ms PNO 35 10, mi  ONP 3@‘
11, mOU \39° 12. mNOP q&"

13, mPQ 600 14, mOQN mc’

15) What is the value of x? Lines that appear to be tangent are tangent. Round to the nearest hundredth if
fnecessary.
a) b)

- ' = s\2
, rrgr=(yio I K +20%=(x412)
rﬂ = ;LOO X?ﬁ + *gqi =XZHLY 136 X*+ oo = X2y l4f

Xe=3, 267
16) Write the equation for the circle with center (2, 4) and radius =7 in X=335 X~

(%27 + (y-1)* =42

17) Write the equation for the circle with center (-3, 1) and diameter = 18in I = g

(x#3) g+ = 224t 9

18) Find the center and radius of the circle: (x—7)% +(y+12)* =144
Center:(7-12) =2
19)Find the center and radius of the circle: (x + 5)° + (y + 8)* = 225
Center (5,8 ) el
20) Graph the circle on the coordinate plane.

a (x+2) +(y-4y* =16 b, (x—7)+(y-8) =1 ¢ (x=2 +(y+3)* =36

S ceprgerngrest g g g g g g

W i
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Secetion 10

1) Deter mme the frtgonomefrtc ratio. Leave your answers as simplified ﬁ‘aenons

. 293
a)tan B = ,ng “*‘"”[o bycosd=_ "F, ¢) sin F'= \!’" o9 "~ Fa dtanG= é&

;F“‘
S JEI

&

2) Find the marked side of each of the following triangies.

2) b) 17 mm 10) ;‘? 4 b
323 (036% 333 20 29 cm
. W } X
. ~ (53(20): 'i—"" o 159 039m
. LN .
jizen |\ e 1 O

ib 0;/52,7

3) Find the value for each of the marked angles«»,j‘;.. \

jﬁg_& Lt 3ron ]

a) 3.6 m b) 9 em ) d)
56.0 ¢n 97 cm
6.2 m . 72.9 em 4.9 m ' X
3
ca ) =72 - 4ya 128m = 12 §¢s
2| ¢ o 56 (8 .
y os (0) = R ° ,___(_.\z%m,, & tan () = TZ
(6220 || 15 Beas | et | \@w«fg«;u

4) A skateboarding ramp is 12 in, high and rises at an angle of 17°. How long is the base of the 1amp? What
is the length of the ramp? Round your answer to the nearest inch.

Y ‘@Qﬂ(l:}ﬁ"% &O-T) v
"”‘% %= 390 Polase @J\; > ferghh

5) Joey is walking home from the library, He can walk for | mile along the street, then turn right and walk 1.5

miles along another street; or he can cut across a large field straight to his-house. At what angle, @, should
he head off from the library, and how far, d, should he cut across the field?

, 4(&"(@-\& t
0-_5( C 1.5 m H b

i (2 O =S
et n o ()= 2

et % d=1.8 @




A
Proofs

Prove: ZDAC = .(:BCA

1) Given: <Band ZDare right angles, 48 = CD

L

Statements

Reasons

1. 4B and ZD are right angles, AB = CD

. G’i\re"\

2. AADC and ACBA are right triangles

2. Defidon  of Rigl} “Triansfe

3. E;E‘E

3. RoLiexive. }Ompzr*‘j"’-’#’ (_on,g nagae

4, AMADC= ACBA

4 H‘?pu Wuse L-eg, —ﬂ"\eom

5. ZDAC= £ZBCA

*Qormespendrg Yarts  of Congment

/T‘"‘TC?-':“\: £5 e e 'rbﬂ_?wurrn‘;’»

2) A
Fill in the blanks in the table below to prove
ZCBA=/ZCDE
2L C L D
B 77 j._, i .
Statement Reason
CE=PC Th \en - -
CA=TE Ve
£BCA&/DCEare vertical | De'Finhim of vetical agfey z
angles
£BCA=/DCE, Ve dical Ansle Theorem
ABCA=ADCE Side- rngle - Side. YleoLm

LCBRAEACDE

Qorvtapodig Varth of tongaieqs

[
’(’P‘g'aq%@ a<  coagouent




sy

Given: mZ1=100°, ms£2 =80

Prove: T{m
Statements Reasons
1. mA=100", ms2 =80 1, Given
2. Z2 and £3 form a linear pair 2. DobiniHon off Lineg- Pair

3.

£2 and £3 are supplementary

3. Linear Pair Propertj(

" Defatrin, of ’4-4;,02 Cong rneace

. Z1 and Z3 are Corresponding Angles

4, mL2+ms3=180° 4 Dobinition of seppleme iay aagles
5, 80" +mZ3=180" 5 Sy st Fudon Prope-ty of L:fmﬁ;%}},
6. mL3=100° b Soohaction Oopety of Epualily
7. mZl=m/3 7 S dash futon Poperty of £gunlily
8 =3 8

9

9. %Q{"F'h;mw—, csf Cerresf;m&;»-.& }Qm i3

10. Ifim 10. Bnpvense of '{.Of’fSﬁ?O’;(ﬂf‘"{p Aﬂ;ﬁa TL@),@,
E
4) o
Given: GE=0FE ; mZE =38°
Prove: msG=71°
G 0

Statements Reasons
t. GE = O 1. Given
2, LG=£0 2. Vsosceles Taa nsle. Thegre
3. mLG=ms0 3 Debmdion of ‘lﬁm;?)e& { emgraence
4. msE =3¢ 4. vaﬂn
5. mZGymlE+mZ0 =180° 3. /g};q,,?;?{ S | heore
6. mLG+38 +mLG =180° 6. S o 1 e ‘f’/@p&f’*‘% of @.g{gﬂ}%
7. 2-mZG+38 =180° 7 CombMma |iVe Yerwmg
8. 2-msG =142° 8 g ol e A pmpef 'v"z:; of- Eimﬂ:'fﬁ'ff
9 nn, % 61 = ?“!" 9. %l(\j:sl\'bq ng.er {"? {_j# Z'L:-t? L{m,g;‘;g,

©




